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Triangle Similarity Shortcuts

B o
If two angles of one triangle ¢ 57°
Angle-Angle (AA) are congruent to two angles _
Similarity of another triangle, then the v e E

triangles are similar,

AABC ~ ADEF

Bre 12
if the three sides of one v c
AN

triangle are proportional 185 o 12 8
to the three corresponding \/

sides of another triangle, A Fi
then the triangles are similar.

Side-Side-Side (S38)
Similarity

14.4

If two sides of one triangle
are proportional to two sides
Side-Angle-Side (SAS) | of another idangie and
Similarity their included angles are
congruent, then the triangles

are similar. MABC ~ ADEF

A F E

State if the friangles in each pair are similar. If so, state how you know they are similar and'complet@ the
similarity statement.
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3. In the diagram below of APET, Qis a point on £K, Sis a point on TR, O is drawn, and £ RPT = £ K50/

Which reason justifies the conclusion that APRT ~ ASRL?
1) AA
2) ASA

3) SAS
4) 555

4. In the diagram of AABC and AED(C below, AT and BD intersect at €, and £CAB = ZCED.
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Which method can be used to show that ﬁABC must be similar to AEDC?

1) SAS
2} AA
3) 5SS
4) HL



R,

. In the diagram below, Ef:_? and FRintersectat T, P2 is drawn, and B

5

What technique can be used to prove that A 25T AROT?

1) SAS
2) SSS
3) ASA
4) AA

6. In triangles ABC and DEF, AB=4, AC = 5 LPE=8 DF=10,and 24 = Z2 Which method could be used to
prove AABC ~ ADEF?

1} AA
2) SAS
3) sSS

4}  ASA
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7.1n AABC and ADEF, —5%,— = 55 \Which additional information would prove AABC ~ Al
4 A
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1) AC=DF

b=

2y CB=F
3) LACB= LDFE

4y LBAC= £LEDF

In the accompanying diagrain, ACE, BCD, and ARt DE IfAC=2,CD=6, and
CE = 3, what is the length of BC.

Tn the accompanying diagram, ATHT ~ ALKL

(FIH = 5, HI + 2, and LK = 7, tind Kl



10.

Complete the following when A IJE — A LMV
ayms K =ms

11.

I AQRS, OR=7. RS=13 and m£R=46. Tn AUVT. ¥T=14, TU =28 an

d msT=46. State
whether the tiiangles are similar, and if S0, Write 2 similarity statement.

12,

At the same time of day, a man who is 52.8 inches tall casts a 63.8-inch siy

adow and his son casts a
43-mely shadow. What is the height of the man’s son?

2.5

[

588 . 43 .



13.

Two ladders are leaning against a wall at the same angle as shown. How far up the wall does the shorter
ladder reach? ‘

[A] 8 [B] 10t [C] 6 fi D] 20 fi

14,

To find the distance across the fake i the figure below, which of the following proportions can you use?

4B_CD o) 2B DE

¢l ==
£}BE DE




15.

Karen wanted to measure the height of her school’s flag pole. She placed a mirror on the ground o] feet
from the flag pole, then walked backwards until she was able to see the top of the pole in the mirror. Her
eyes were 5 it above the ground and she was 42 ft from the muroer. Using similar triangles, find the
height of the flagpole if @1= 42 § and d2 = § ft. Round your answer to e nearest undredd,
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16.

In AQRS. OR=7, RS=13, and mLZR=46, n AUT'T, FI=14, TU/ =28 and mL =46 State
whether the triangles are similar, and if S0, Write a sinlarity statement.

17,

As shown in the dingram holow, AE and co intersect at E. and
AC BD.

D
B

Civen KAEC ~ ABED, which egualion is true?

iy CE _ EB 3y EC _ BE
U TE T W5 )
gy AE _ AC (1) D _ AC
= BE T BD we T ED



18.

Trinugles ST and XY7Z are drawn below, It RS = 6,
is qu‘zf simnilar to AXYZ? Justify your answer.
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19.

Triangles A BEC and DEF are drawn Brelerw.

¢

/
1 AB = 0. BC = 13, DE = 6, EF = 10, and £B = £ ¥, which

statemnent is true?

A

{17 LOAB = LDEF {3y AABC ~ ADEF
, A ; FE
2 MBI A

TETTE

§T =14, XY = 9, YZ = 21, and
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Chooge:

AA
5SS
SAS

not similar

1) As marked, by which method would it be possible to prove these triangles
similar (if possible)?

2) As marked, by which method would it be possible to prove these triangles similar
(if possible)?

N3

3) Asmarked, by which method would it be possible to prove these triangles similar (if
possible)?
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Similarity Homework

Explain how you know the triangles are similar, and write a similarity statement.
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3. Verity that AABC ~ AMNP

4. If AABC ~ AZXY . msA = 30, and m<C' = 30, what is msX ?



5. In the diagram below, AABC ~ AEFG, msC'= 4x + 30, and mLG = 5x + 10.

Determine the value of x.

6. As shown in the diagram below, AABC ~ ADEF, A5 = 7x,BC=4,DE=7,and EF =x.

7X

What is the length of AB?



7. Inthe diagram below, AABC ~ ADEF, DE=4,AB=x, AC=x+2, and DF = x+ 6. Determine the

length oflé. [Only an algebraic solution can receive ful| credit.]

8. Under a dilation with respect to the origin, the image of P(-15,6) is P'(~-

5,2). What is the constant of
dilation?



If AABC ~ APQR, find the value of x and .
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Prove by any method: aPQR = aTSR



